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Answer three questions in total.
Section A
One or two of your three chosen questions must be from this section.
(a) With reference to the market for private transport in your country, discuss whether the
demand for private cars is likely to be elastic or inelastic with respect to price and income.

(10]

(b) How far would a knowledge of demand elasticities be useful to a government wishing to
discourage the use of private cars? [15]

Firms’ pricing and output decisions depend on barriers to entry and the behaviour of competitors.
Discuss. [25]

Governments provide all public goods supplied but only some of the merit goods supplied.

(a) Distinguish between public and merit goods. [10]
(b) Comment on how a government might intervene in the provision of these goods? [15]
Section B

One or two of your three chosen questions must be from this section.

The Economic Strategies Committee was set up by the government in May 2009 to chart
Singapore’s future growth directions. The Committee’s key recommendation is to raise
Singapore’s annual productivity growth from an average of 1 percent in the past decade to 2 to
3 percent over the next decade. This is a major shift from the government’s past strategy of
heavy reliance on labour inputs to generate economic growth.

(a) Explain the key macroeconomic objectives of a government. [8]

(b) Discuss whether the shift towards productivity-driven growth will help Singapore achieve its
macroeconomic objectives? [17]

A key feature of the Singapore economy is its openness to trade and capital flows.
(a) Explain with the aid of examples, the features of small and open economies. [10]

(b) Evaluate the assertion that economic policies in Singapore are limited mainly by the price
elasticities of demand for exports and imports. [15]

Our prospects have never been better. The key reason is globalisation. Capital, enterprise and
talent are flowing to countries where the government can be trusted, where the workforce is
well-educated and skilled, and where the quality of life is high.

(Budget Speech, 2007)

To what extent has globalisation brought more benefits than costs to Singapore in recent years?
[25]
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